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1. Bayesian Optimisation (BO) 

• To solve the global optimisation

• The objective function

f( )
Non-convex
Expensive

Noisy

x y

x⇤ = argmin
x2X

f(x)

3
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1. Bayesian Optimisation (BO) 

f()x y x⇤ = argmin
x2X

f(x)

f ⇠ GP
�
µt,Kt

� xt+1 = argmax
x2X

↵t(x)
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x⇤ = argmin
x2X

f(x)
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• Maximise utilisation of parallel workers

2. Asynchronous Batch BO

Sync Batch BO (B=3)
1 4C1

63C3

2 5C2

Time
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xq = arg maxx ! X

!
! (x)

" q" 1
i =1 " (x |x i )
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• Tuning 9 hyperparameters of a CNN for CIFAR-10

5. Empirical Results: Async. methods

B=2 B=4
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